(© Diversified Window Solutions Inc. 2010
INSTALLATION NOTES:

1. ADJUSTABLE STORM PANEL AND COMBO WINDOW KIT. PATENTED, U.S. PATENT NO. 5,504,018 , PATENT PENDING.
2. THESE " INNOVATIVE NEW PRODUCT" EVALUATION DOCUMENTS REPRESENT A SHUTTER KIT AND GLASS WINDOW
SYSTEM DESIGNED AND TESTED AS A LARGE MISSILE IMPACT PROTECTIVE SYSTEM IN ACCORDANCE WITH THE
INTERNATIONAL BUILDING CODE, (1.B.C.) AND THE FLORIDA BUILDING CODE 2007. "CANNOT BE USED IN HIGH

VELOCITY HURRICANE ZONES".

3. THIS COMBO WINDOW SHUTTER KIT HAS PASSED TESTING FOR ASTM-E 330 "UNIFORM STATIC AIR PRESSURE
DIFFERENCE", ASTM-E 1996-05 "IMPACTED BY WINDBORNE DEBRIS" AND ASTM 1886-05 "IMPACTED BY
MISSILES AND CYCLIC PRESSURE

4. GLASS THICKNESS BASED ON ASTM E 1300 - GLASS CALCULATIONS CHART, GLASS SPECIFICATIONS CAN VARY
DEPENDING ON SIZE OF GLAZED LITE AND OR LOAD. TESTING HAS SHOWN THAT 1/4" ANNEALED GLASS DOES NOT
BREAK ON IMPACT.

5. UNIVERSAL "U" (0.090") KIT HEADER & (0.110") "F" TRACK KIT SILL.

6. COMBO WINDOW HEADER & SILL FASTENERS SHALL BE :
* 2X WOOD FRAME (FIN): #10 WOOD SCREWS OR BETTER WITH A MINIMUM 1 1/2" EMBEDMENT
¢ CONCRETE (FLANGE): 1/4" TAPCON SCREWS OR BETTER WITH A MINIMUM 1 1/4" EMBEDMENT

7. THE MINIMUM PANEL LENGTH IS 18" (POROSITY LIMITATIONS).

8. ANCHORS SHALL BE INSTALLED IN ACCORDANCE WITH MANUFACTURERS' RECOMMENDATIONS.

9. ALL ALUMINUM EXTRUSIONS ARE ALLOY 6063-T5 WITH TYPICAL WALL THICKNESS OF 0.100".

10. USE HIGH QUALITY CAULK BEHIND KIT'S HEADER AND SILL, OSI. OR EQUIVLANT.

11 THE RESPONSIBILITY FOR SELECTION OF THESE PRODUCTS TO MEET ANY APPLICABLE LOCAL LAWS, BUILDING
CODES, ORDINANCES OR OTHER SAFETY REQUIREMENTS RESTS SOLELY WITH THE ARCHITECT, BUILDER, OWNER
OR CONTRACTOR.

12. THESE PRODUCT EVALUATION DOCUMENTS ARE VALID WHEN DATED & EMBOSSED SEALED AND OR A MASTER
APPROVAL DOCUMENT IS ON FILE WITH A MUNICIPALITY OR OTHER GOVERNING AGENCY.

13. THESE PRODUCT EVALUATION DOCUMENTS ARE SUITABLE TO BE APPLIED BY THE CONTRACTOR PROVIDED THE
CONTRACTOR DOES NOT DEVIATE FROM THE CONDITIONS DETAILED HEREIN AND THE CONTRACTOR VERIFIES THE
EXISTING STRUCTURE IS CAPABLE OF SUPPORTING THE SUPERIMPOSED LOADS.

14. ALTERATIONS OR ADDITIONS TO THIS DOCUMENT ARE NOT PERMITTED.

15. WHEN THE SITE CONDITIONS DEVIATE FROM THESE PRODUCT EVALUATION DOCUMENTS, SITE SPECIFIC
DOCUMENTS SHALL BE PREPARED BY A DULY LICENSED AND REGISTERED ENGINEER OR ARCHITECT.

16. A MINIMUM OF ONE LABEL PER OPENING OR A CERTIFICATE OF COMPLIANCE SHALL BE PROVIDED BY THE
MANUFACTURER OR INSTALLER. WHERE LABELS ARE USED, THE LABEL SHALL READ AS REQUIRED BY THE QUALITY
ASSURANCE AGENCY AND NAME OF MANUFACTURER.

17. STORM PANELS SHALL BE MARKED PATENTED, U.S. PATENT NO, 5,540,018. AND PATENT PENDING.

18. STORM PANELS SHALL BE 22/24 GUAGE STEEL CONFORMING TO ASTM A653 SQ GRADE 40, G60 GALVANIZED
COATING AND BE LIMITED TO 103" SPAN ON THIS ENGINEERING.

19. PERMANENT FASTENER COMPONENTS MUST BE PROTECTED AGAINST CONTAMINATION & CORROSION.
20. WHERE SCREWS FASTEN TO NARROW FACE OF STUD FRAMING, FASTENER SHALL BE
LOCATED IN CENTER OF NOMINAL 2" X 4" (MIN.) WOOD STUD (MIN. G=0.55). 3/4" EDGE DISTANCE IS
OR GREATER DENSITY. FASTENERS MAY HAVE PHILLIPS, PAN HEAD OR HEX HEAD. CONTRACTOR MUST VERIFY THAT
WOOD BUCK CONNECTION TO SUBSTRATE IS SUFFICIENT

21. EXISTING STRUCTURE MAY BE CONCRETE, HOLLOW BLOCK OR WOOD FRAMING.

22. CONCRETE COMPRESSIVE STRENGTH = 3,000 PSI AT 28 DAYS CURING TIME.

23. MINIMUM EDGE DISTANCE (E.D.) OF ANCHORS SHALL BE 1 1/4", IN HOLLOW BLOCK OR CONCRETE.

24, DETERMINE THE POSITIVE AND NEGATIVE DESIGN LOADS TO USE WHEN REFERENCING THESE DOCUMENTS IN
ACCORDANCE WITH THE GOVERNING CODE AND GOVERNING WIND VELOCITY. FOR WIND LOAD CALCULATIONS IN
ACCORDANCE WITH ASCE 7-98

25. NO INCREASE IN ALLOWABLE STRESS HAS BEEN USED IN THE DESIGN OF THIS PRODUCT.

26. REFERENCED TEST REPORTS BY NCTL. ARE THE PROPERTY OF DWS.

DIVERSIFIED WINDOW

SOLUTIONS, INC.

FIN & FLANGE HEADER & SILL KIT

PANEL INSTALLATION NOTES:

1. INSERT 3/4" HEX HEAD 1/4" #20 BOLTS INTO THE BOTTOM TRACK, ONE BOLT
FOR EACH HOLE IN THE BOTTOM OF THE PANELS.

2. INSTALL PANELS FROM THE LEFT SIDE OF THE WINDOW OR SLIDING GLASS
DOOR OPENING TOWARDS THE RIGHT SIDE OF THE OPENING. THE NARROW
EDGE OF THE PANEL 1S ON THE LEFT AND THE WIDER SIDE OF THE PANEL WITH
THE ELONGATION HOLE TO THE RIGHT SIDE.

3. INSERT THE FIRST PANEL INTO THE UPPER "U" HEADER AND PLACE THE
PREPUNCHED HOLES [N THE BOTTOM OF THE PANEL OVER THE BOLTS
EXTENDING FROM THE BOTTOM "F" TRACK.

4. INSTALL THE MOLDED WING NUTS ON THE LEFT BOLT AND ON THE CENTER
BOLT, DO NOT TIGHTEN THE WING NUTS AT THIS TIME.

5. INSTALL THE NEXT PANEL OVERLAPPING THE FIRST PANEL WITH THE NARROW
SIDE OF THE SECOND PANEL OVERLAPPING THE WIDER RIGHT SIDE OF THE
FIRST PANEL.

6. ON THE SECOND PANEL, INSTALL THE MOLDED WING NUTS ON THE LEFT BOLT
AND ON THE CENTER BOLT, DO NOT TIGHTEN THE WING NUTS AT THIS TIME.

7. CONTINUE INSTALLING PANELS USING THIS METHOD UNTIL THE OPENING IS
COVERED.

8. WITH THE WING NUTS LOOSE, THE PANELS MAY BE ADJUSTED TO THE RIGHT
OR LEFT AS NEEDED. ONCE THIS IS DONE, TIGHTEN ALL WING NUTSTO
PROPERLY SECURE THE PANELS TO THE LOWER "F" TRACK.

9. DO NOT STAND BEHIND WINDOWS DURING A STORM.

THE PANEL OVERLAP, SLIDE BOLT TRACK AND ELONGATED HOLE ALLOW PANEL WIDTH ADJUSTMENT

VAV A\ 72V /AW,

SIZE & CONFIGURATION DESIGN PRESSURE MISSILE IMPACT RATING
103" MAX. SPAN WIDTH +60/-60 PSF LARGE Maiﬁ_IELDE IMPACT

[72]
o » - -
2 | € Diversified
i Window Solutions, Inc.
d 215 PINEDA STREET
: UNIT 141
s LONGWOOD, FL 32750
§_ PH: 407-889-9440 FX:407-889-9193
o
z ©
5 < ¢
w [ iov N
< Juwyd E 3
a oY, iy 3
a lZ3 w ju_;‘m 5
= <4 [ .S 8
gz =9 w7
] J 4 Z pVA ;R
Eloy < n X
o $2Z o V¥
212w &0 O0F<
EJE2 ZE | 3535
a Lf, L&,.,"*( o oo o
5 43 ot e
s T o EHE S
[4 ~ jw Q < Z $
w .- n | e = N
w <€ 3 =}
l::> = E a Cg I
- |9 ¥ N =
w t-_-‘ o o o
4
S
x =
x <
I 0 I
[a]
=z
h a
(2]
&
5 V)
wn Z
3 o
2 Z
H Ran] IS
[T
S V) [
g - a
21 >| ¢ |
tl) &
ol X]| A
-
(=]
N
O
£
[7/]
S
. o
SF 2
3 LB a
‘g . Hangg
‘o F £E938
3 Eeynk
= Fgacy
a 2Z9va
Exed é‘u:.%ﬁo
g dagfE
3 23080
£ 8 223ty
g geEsy
(Y] P33 28 5 ¥ oo f
= ‘? Vo - o
= ; :
1 Y g
. O >
ZlEs2sl2z|2e
3 cl<
al<o|r|¥x|3Z
i S S "
DWG #:

..U
>
flo
\Jg

w0
X
m
m
__'
et




(© Diversified Window Solutions Inc. 2010

TYPL AY BUTLDING

INSIDE CLOSURE PANEL

INTERIOR HANDLE

SHUTTER SOLUTIONS ADJUSTABLE INSIDE CLOSURE PAN DETAIL6 — INSIDE CLOSURE PAN

SIDE VIEW OF INSIDE_CLOSURE PAN
COMBO FIN HEADER KIT. 7, 1419 /
FASTENERS SEE G.. NOTE 6.
7|z & oc l 2" | COMBO HEADER
MIN MAX. Tve. |mn| + 1-3/8 SIDEWALK BOLT, SPRING CLIP
- w AND WASHERED WINGNUT
2 = \
/ 70 €3
7 a7 x 0
N\ S
z & T N
g E = N ﬁ
0 z X e
/ 7/ S 0  H o} I
7 HE . 1
< ® 0.025" PANEL HEIGHT+ 05" [/
= o 4 MAXIMUM PANEL LENGTH 103.00" lim
7 MAXIMUM PRESSURE 60.0 D
/,
7 Z
3
;// ©w
/
2" 6" o.C. 2"
COMBO FIN SILL KIT
MIN 7, MAX. TYP.  IMIN FASTENERS SEE G.l. NOTE 6. 0500
/ . 0.
7 , o
WIDTH NOT RESTRICTED // pi ®/ \

N4

ADJUSTABLE

\w W /_\w
ADJUlS_]TABLE ADJUS_TW #20,3/4" 55.B0LT -

CUT-OUT INWARDLY FLAT SURFACES
11/2" UPWARDLEY BOTH LOWER CORNERS

SIDEWALK BOLT

SPRINGCLTP —__  \o == / MAY BE MOUNTED VERTICALLY OR HORIZONTALLY
WASHERED WINGNUT — U

!ﬁ N
"

™~ INTERIOR HANDLE

=

7.125
WASHERED WINGNUT AND 1/4*

_ =/
|

o= - - -— 1J - |

UNIVERSAL WINDOW SILL “F" TRACK TYP'. SSI-23, HORIZONTALLY
FASTENED WITH11/2 EB. 3/4" SS 1/4 - 20 BOLTS WITH
WASHERED WINGNUT FASTENING SHUTTER TO "F* TRACK

LOWER SILL
TOP VIEW TYPICAL 0.110" ADJUSTABLE SILL

& PENDINGS

Diversified Wind'O‘!Il\.I.;.SQ];'ltith Inc. 2010 - LICENSOR OF WINDOW SYSTEMS AND HURRICANE SHUTTERS. "PATENTED, U.S. PATENT NO. 5,540,018"

Diversified
Window Solutions, Inc.
215 PINEDA STREET

UNIT 141
LONGWOOD, FL 32750

PH: 407-889-9440 FX:407-889-9193

©
g 3
~ &io\“.‘
©
”@‘Qz oo ¥
Z3 9 =2 8
<H P e
S0 < v S>3 3
Lo zo NI
Ty W< axnx X
Zw W — o M X
oo a® .. Z <
T LUD > §<Q.r\
< 10
SE-|a £2gs
I > o EHE 3
X w Q<Z~o
AR I “‘.g’y\‘
= K B
- 18] ~ -
E | & @
o -t a
(18]}
=
<
0
>
™
H| 2
0| &
=l
e}
>«
O
(WH ]
w
(a4 2
IS
i o
- B
"'cl.:§5
sl Y g0
882
E3N08
LOLENE
SE530 g
SZavy
JUWIEEQ
Sa 24T
L0
CEEEE
ZEdb L
Egs£09
o33y
£ R 5
g
g
= P > W
Ef;} = 4 4 =)
O g"v TIIVZ
- D L) )]
DWeG #:

v
<
0
o
N




.| . .
fa _m m 99€2-vb9 (L0¥) X4 £G69-¥b9 (LO¥) Hd vesse wﬂumomww_mmuwﬂm%_%mu 3as] SIN
Rt o m 6842€ 1d "NAvd YALNIM 1 m%%%@%w&ﬁﬁ%& :31vIS
bt M b 8 £| 8eraLs "aav SuNvadIvd ‘M Lzl —{ . T AEHOnVa S NS
593 .0 3 271 SHRIOMLID g I BT NaH
] Iw X . 1 .
33 <5 § . —1 Q=1 :A8 AHD
- m mwm 3 ‘A8 d3dvd3dd L e L T "y
. g5 2 —. SETEC :
8z 3 Siviiq® Ly NOILI¥DS y AMAE , : ”
~ 305 NOILVAIT3 ¥3LLNHS ALva | Ag SRAEN onpMY A8 NMQ w
& n £ LI T1IS ¥ ¥3QqvaH or'go1l
JONVI4 ? NId LI wZOHmH>md . e e s :31vQ W
SONION3d®  .810°0vS's "ON LNILVd "S'N ‘GILNILV. "SHALLNHS INVOIMINH ANV SWILSAS MOANIM 40 30sN3o1 -0 L0 ou| w:o_u:_QW;Oﬁ:_; paijisiaAIq
<
w
E o
X z
33 18]
w Wt
o 2 a
& NEF" g )
R RN cor | N g8 B8 g
on N 39 WZ a
O uw —
Q < NVdS WAWIXYW . N < g
J =
S+ | X N N o
[ 58 &~ % ~ g =
S =2
W mm - . [ ] S <
8 83 Y& SlE = Y 2 IS g
2wl | s |E - T8 B
ot ® O
gz °|3 MERI g 1 n<) 8 &
a = © - 9
g8 = &
S 32 S . 5
3 °F NN i 2 @
(=)
1 m /, W m m
2
L1 4 2 2z w

=)
-
o
Y
<)
=
(2]
c
9
et
=)
o)
w
3
o
o
=
ge]
2
=
o
[
7]
2
O

DWS001
30F7

SHEET:




(© Diversified Window Solutions Inc. 2010

CONCRETE/MASONRY
FLANGE WINDOW KIT AND WINDOW OR LITE
COMBO FLANGE KIT HEADER AND STLL EXISITNG CONSTRUCTION L 1/2" MIN
X CONCRETE/ MASONRY
A. WINDOW HEIGHT + 3.0" = MASONRY HETGHT EMBEDMENT
CONCRETE/ MASONRY

8. A MASONRY OPENING WIDTH AND HEIGHT SHOULD BE 0.25" OR (1/4") WIDER AND HIGHER BY OTHERS 4 |4 N -,

THAN THE WINDOW KIT SIZE. DO NOT MAKE THE OPENING SIZE GREATER THAN 050" |4 A

(BLOCKING WILL THEN BE REQUIRED). o - RIS R SRR T
C. MEASURE WINDOW OPENING FOR SIZE AND TO BE SURE WINDOW OPENING IS PLUMB, A - en

SQUARE, LEVEL AND TRUE. -4
D. FOLLOW INSTRUCTIONS ON WINDOW FOR PROPER WINDOW INSTALLATION. 11/2" MIN.

EMBEDMENT
E. CENTER OF BOLT TRACK TO HEADER + (0.50) = PANEL LENGTH
EXTERIOR FINISH CONCRETE/ MASONRY
BY OTHERS BY OTHERS
ET S0 )
CONCRETE/ MASONRY CONCRETE/ BA\?’(‘)THEE\; 11/2% MIN. 1 1/2" MIN.
BY OTHERS { A ‘\ (‘ EMBEDMENT _ EMBEDMENT
- = 04 -y —— : S . Ly
! 11/2" MIN. &
EMBEDMENT _
EXTERIOR FINISH EXTERIS\E g.IrﬁIEi';
8Y OTHERS ‘
PERIMETER CAULK 2X WOOD BUCK PERTMETER CAULK PERIMETER CAULK
BY OTHERS BY OTHERS
BY OTHERS BY OTHERS
WINDOW UNIT WINDOW UNIT ‘é‘(,I'g$3¥sL'NIT
BY OTHERS BY OTHERS
EXTERIOR
EXTERIOR EXTERIOR
INTERIOR
WASHERED WINGNUT
AND 1/4" #20, 3/4" 5SS BOLT
WASHERED WINGNUT ERED WINGNUT
AND 1/4" #20, 3/4" 55 BOLT WASHER

AND 1/4" #20, 3/4" SSBOLT WASHERED WINGNUT

1/4" #20, 3/4" SS BOLT
2X WOOD BUCK

/— BY OTHERS
CONCRETE/ MASONRY
CONCRETE/ MASONRY BY OTHERS
CONCRETE/ MASONRY BY OTHERS
BY OTHERS 2 EXTERIOR FINISH
EXTERTOR FINISH & BY OTHERS &
BY OTHERS ™ o i
4 g J 4 4 )
11/2" MIN. 11/2 MIN. _| 11/2° MIN. |
EMBEDMENT EXTERTOR FINISH EMBEDMENT EMBEDMENT
BY OTHERS
CONCRETE/MASONRY WITH WOOD BUCK CONCRETE/MASONRY CONCRETE/MASONRY
NEW CONSTRUCTION EXISITNG CONSTRUCTION EXISITNG CONSTRUCTION

fied Windoup 30 iijtiqns Inc. 2010 - LICENSOR OF WINDOW SYSTEMS AND HURRICANE SHUTTERS. "PATENTED, U.S. PATENT NO. 5,640,018" & PENDINGS

iversi

D

215 PINEDA STREET
UNIT 141
LONGWOOD, FL 32750

Diversified

Window Solutions, Inc.

PH: 407-889-9440 FX:407-889-9193

8 I
v %
- o &
wy Z ES s
9 (e} UV)QO
Z23 F jujmg
SH < .S 3 T
'] e} 7)) [T
Ly 2 ¥<
< s x X &
o v o
ZWw v Oz<
Ho Z | ST
< w > o &
w oo EILS
I 2 1o %Hl—gl
S|¥ SEg:2
XY [T .
Y S@z=38
T—‘ o o o
)
'_.
<
D I
>
o
]
0| g
] &
=
>l
(¥
| @
tw
(a'4 2
1o 1
3 g
® 3
fppas
E:Q‘U”\Z
. . Qg
Jfodar
JEAoa g
329va
QuUZTO
FEr L
RN
EgLzo
BE35E
g & 8
a
e
ol I Y
pwelaclaz|Ye |
iz i< kE
28 ShIExIIvZz
Al =Y (&} 0
D

SHEET

g

Zs
92)
S
~ —

N
0
)




(© Diversified Window Solutions Inc. 2010

EXTERIOR FINISH
BY OTHERS
PERIMETER CAULK
BY OTHERS
FIN WINDOW KIT AND WINDOW OR LITE
COMBO FLANGE KIT HEADER AND SILL 1

L 11/2" MIN.
EMBEDMENT

I

11/2" MIN.
EMBEDMENT

2X WOOD BUCK EXTERTOR FINISH

L~ BY OTHERS BY OTHERS
PERIMETER CAULK

BY OTHERS

1
ANCHOR: SEE NOTES 6 & 29

|_———BLOCKING WHEN FASTENING

11/2" MIN.
EMBEDMENT

EXTERIOR FINISH
BY OTHERS

OPTIONAL 2X4 INSERT

2X WOOD BUCK

HIGHER INTO TRUSS B8Y OTHERS

PERIMETER CAULK
BY OTHERS

ANCHOR: SEE NOTES 6 & 29

ON SHEET 1
A. WINDOW HELGHT, FOLLOW WINDOW INSTALLATION ON SHEET 1 ON SHEET

INSTRUCTIONS.
B. A WOOD FRAME OPENING WIDTH AND HET6HT SHOULD BE 0.25" OR

(1/4") WIDER AND HIGHER THAN THE WINDOW SIZE. DO NOT

MAKE THE OPENING SIZE GREATER THAN 0.50" OR (1/2"),

(BLOCKING WILL THEN BE REQUIRED). WINDOW UNIT WINDOW UNIT WINDOW UNIT

BY OTHERS BY OTHERS BY OTHERS

C. MEASURE WINDOW OPENING FOR SIZE AND TO BE SURE WINDOW

OPENING IS PLUMB, SQUARE, LEVEL AND TRUE.
D. FOLLOW INSTRUCTIONS ON WINDOW FOR PROPER WINDOW EXTERIOR EXTERIOR EXTERIOR INTERIOR

INSTALLATION, INTERIOR INTERIOR
E. CENTER OF BOLT TRACK TO HEADER + (0.50) = PANEL LENGTH

WASHERED WINGNUT
; " WASHERED WINGNUT
AND 1/4" #20, 3/4" 55 BOLT
/ AND 1/4* #20, 3/4" 55 BOLT
WASHERED WINGNUT 2 © : ~
3 B
AND 1/4" #20, 3/4" SS BOLT 2X WOOD BUCK
% - |~ BYOTHERS
=~y 2X WOOD BUCK o 2X WOOD BUCK Sy
BY OTHERS ‘ =) BY OTHERS .
ANCHOR: SEE NOTES 6 & 29 ANCHOR: SEE NOTES 6 & 29 _/ ; ANCHOR: SEE NOTES 6 & 29
ON SHEET 1 ON SHEET 1 ON SHEET 1 o
EXTERIOR FINISH EXTERIOR FINISH \‘ - EXTERIOR FINISH : |-
BY OTHERS . /2" N BY OTHERS P~ | 11/2" MIN. BY OTHERS O 11/2" MIN.
I EMBEDMENT f— EMBEDMENT I EMBEDMENT
WOOD OPTION WOOD OPTION TUNNEL FORM OPTION

ANCHOR: SEE NOTES 6 & 29

Inc_ 201 o - LICENSOR OF WINDOW SYSTEMS AND HURRICANE SHUTTERS. "PATENTED, U.S. PATENT NO. 5,640,018" & PENDINGS

ions

fied Window Solut

iversi

D

Diversified
Window Solutions, Inz.
215 PINEDA STREET

UNIT 141
LONGWOOD, FL 32750

PH: 407-889-9440 FX:407-889-9193

o
- v o &
B 3
o©
L&:JQ pd ol §
Z3 O RS
g B Sw™ s
Y < UL
.5"5 j MU))Z*
& < %ya“'
o . zZx
& 215 2% S
< QY o
w = -} '_chu %
X z |no EHE 3
LT w U‘(Z O
.. o LH o
g [cas3E
l: o o a
o
,.._
<
[a]
>
o
H| Z
0| g
oy
>|
Q
] @
w
(a'4 3
S s N a
\%\ : a
— 2, U-'&’ » 8
EBua2
Euac gl
%g vl
<ﬁ3‘gg’0*
D.E‘-"‘"‘fn_"%
ggﬁg;«
2554
}%EEE«E‘
’ o4
g
&
)
<E B
Q Z
0




(© Diversified Window Solutions Inc. 2010

BILL OF MATERIALS
ITEM NO. DESCRIPTION MATERIAL MANUFACTURER
1 . COMBO FIN KIT HEADER 6063-T5 DIVERSIFIED WINDOWS
2 COMBO FIN KIT SILL 6063-T5 DIVERSIFIED WINDOWS
3 COMBO FLANGE KIT HEADER 6063-T5 DIVERSIFIED WINDOWS
4 COMBO FLANGE KIT SILL 6063-T5 DIVERSIFIED WINDOWS
5 "U" HEADER 6063-T5 DIVERSIFIED WINDOWS
6 "H" HEADER 6063-T5 DIVERSIFIED WINDOWS
7 "F" TRACK OUTSIDE 90 DEGREE| 6063-T5 DIVERSIFIED WINDOWS
8 "F" TRACK INSIDE 100 DEGREE | 6063-T5 DIVERSIFIED WINDOWS
9 "F" TRACK INSIDE 90 DEGREE 6063-T5 DIVERSIFIED WINDOWS
10 "F" TRACK WALL MOUNT 6063-T5 DIVERSIFIED WINDOWS

"F" TRACK OUTSIDE 90 DEGREE
ALUMINUM 6063-T5

|<— 332"

i
221"
1

"F" TRACK INSIDE 100 DEGREE
ALUMINUM 6063-T5

2.20" ’——-

2.64"

COMBO FIN KIT HEADER
ALUMINUM 6063-T5

[f— 3.61" ——l

-

3.94"

I

—=|l=— 0.100"

COMBO FLANGE KIT SILL
ALUMINUM 6063-T5

271" ~|

2.36"

“F" TRACK INSIDE 90 DEGREE
ALUMINUM 6063-T5

222" l—-—

ALUMINUM 6063-T5

A

2.35"

o

@ COMBO FIN KIT SILL

"U" HEADER
ALUMINUM 6063-T5

.
—

234"

i

“F" TRACK WALL MOUNT
ALUMINUM 6063-T5

J_——i |<— 042"

189" 1

—

®

©

COMBO FLANGE KIT HEADER
ALUMINUM 6063-T5

453" i

— —

225"

r 7

"H" HEADER
ALUMINUM 6063-T5

|- 253" =

3

Diversified Window Solutions Inc. 2010 - LICENSOR OF WINDOW SYSTEMS AND HURRICANE SHUTTERS. "PATENTED, U.S. PATENT NO. 5,640,018" & PENDINGS

Diversified
Window Solutions, Inc.
215 PINEDA STREET

UNIT 141
LONGWOOD, FL 32750

PH: 407-889-9440 FX:407-889-9193

b
- %
- iy &
ms ES 3
[G) v VUV ©
-] 1 - N~
Z3 I Jw™ S
S8 pg| Dend
@ b V<l
o Gk nnx X
Z M
BO duw < =< n
L:E [N o X e
P18 BHEE ¥
alw GT2Z 3
W o .ET\‘
4 S4@z38
':-‘ a o e
w
'_
<<
[a)
>
[~
|z
0| g
=l a
=]
>|
(8
| 2
17}
(a4 2
& %
gg2
N
WO
DENE
dex g
40 JT
LWEEQ
&S5
%EED
BT F T
zity
2=z
N8
g
i
.. O 1> >
tole<]az|8w
8lz_2Ix<E
E—- =PIz
Al 2 L) 0




(© Diversified Window Solutions Inc. 2010

FIN AND FLANGE INSTALLATION NOTES

A. ROUGH OPENING MASORY OR WOOD CONSTRUCTION.

1. CHECK TO ENSURE THE OPENING IS PROPER SIZE.
2, SILL PLATE MUST BE LEVEL.
3. PROVIDE 1/4 TO 1/2 INCH OF CLEARANCE ON BOTH HEIGHT AND WIDTH,

4. IN WOOD FRAME INSTALLATIONS COVER THE OUTSIDE FACE OF THE BUILDING OPENINGS WITH
VAPOR BARRIER AND/OR OTHER MATERIAL AS PROVIDED BY OTHERS FOR THE BUILDER. INSTALL WINDOW.

THE BOTTOM PEEL AND SEAL STRIP IS APPLIED OVER NAILING FIN THEN APPLY JAMB STRIPS,
TOP STRIP IS APPLIED OVER NAILING FIN AFTER TWO SIDE STRIPS ARE APPLIED.
5. FOLLOW SITE SPECIFIC DETAILS FROM SEALED JOB PLANS IF PROVIDED.

B. CHECKING WINDOW UNILT.

’

1. OPEN AND OPERATE SASH AND CHECK THAT THE UNLT OPERATES PROPERLY BEFORE INSTALLING.
2, CLOSE AND LOCK SASH.

€. INSTALLATION PROCEDURE.

1A. IN WOOD FRAME CONSTRUCTION, APPLY A CONTINUOUS BEAD OF SEALANT (BEDDING JOINT)
AROUND THE FULL PERTMETER OF THE BACKSIDE OF THE MOUNTING FIN. APPLY THE SEALANT IN
LINE WITH ANY PRE-PUNCHED HOLES ON THE MOUNTING FIN.

18. IN MASONRY CONSTRUCTION, SEALANT MAY BE APPLIED AROUND THE ENTIRE BUCK AT THE
POINT WHERE THE BACKSIDE (INTERIOR SURFACE) OF THE MOUNTING FLANGE WILL MAKE CONTACT
WITH THE BUCK.
2. CENTER UNIT IN OPENING.
3. SELECT AND APPLY SHIMS.
4. ADJUST THE SHIMS AND CHECK THE WINDOW FOR LEVEL, PLUM, AND TRUE, ENSURE
THE WINDOW IS NOT BOWED IN OR OUT. DISTANCE BETWEEN JAMBS AT MEETING RAIL SHOULD
MEASURE THE SAME AS HEAD AND STLL.
5A. FOR WOOD FRAME INSTALLATIONS FASTEN THE UPPER CORNER IN PLACE THROUGH THE NAIL
FIN. DO NOT DRIVE THE FASTENER IN TO TEN POINT OF BENDING THE FIN.

58. FOR CONCRETE/MASONRY WALL INSTALLATIONS FASTEN THE UPPER CORNER IN PLACE THROUGH
THE BALANCE CHANNEL. DO NOT DRIVE THE FASTENER IN TO THE POINT OF BENDING THE
NAILING FIN.

6. ENSURE THE WINDOW IS SQUARE, OPERATES SMOOTHLY, AND OPERABLE SASHES ARE
SITTING SQUARE IN THEIR OPENINGS.
7. FASTEN THE CORNER DIAGONALLY OPPOSITE THE UPPER CORNER THAT WAS FASTENED FIRST,

8. CONTINUE TO FASTEN SIDES, TOP, AND BOTTOM THROUGH THE MOUNTING FIN; RECHECKING
THE UNIT TO ENSURE IT IS SET PLUMB, LEVEL, SQUARE, AND TRUE. FASTENER HEADS SHOULD NOT
COMPRESS THE NAIL FIN WHEN PUT IN PLACE.

9. IF APPLYING ADDITIONAL INSULATION BEHIND JAMBS AND UNDER SILL, BE CAREFUL NOT
TO BOW FRAME IN,

10. IN WOOD FRAME INSTALLATIONS, IF A TOP FLASHING STRIP IS USED, APPLY OVER HEADER NAILING FIN
11. CHECK THE OPERATION OF THE WINDOW AND ADJUST AS NECESSARY.
12. REFER TO ENGINEERING DRAWINGS FOR MORE SPECIFIC INSTALLATION DETAILS.

D. PANEL MEASUREMENTS,

1. MEASURE FROM THE INTERIOR TOP OF THE HEADER TO THE CENTER OF THE BOLT TRACK AND ADD 1/2"
THIS WILL BE THE PANEL LENGTH.

DETAIL 12 — TYPICAL BLOCK WALL SECTION
CROSS SECTION VIEW OF C.B.S. WALL

MIMINUM EMBEDMENT (M.E.) IS THE DISTANCE AN ANCHOR
MUST PENETRATE THE BEARING STRUCTURE

EDGE DISTANCE (E.D.) IS THE DISTANCE
FROM THE STRUCTURES EDGE TO THE

ANCHOR.

ANCHORS SHALL BE INSTALLED IN o
ACCORDANCE WITH MANUFACTURES

RECOMMENDATIONS

STRUCTURE MAY BE CONCRETE, MASONRY
BLOCK, WOOD FRAME OR STEEL FRAME.

NO SEPRATION FROM
61,455 REQUIRED.

SEE EGRESS DETAIL.

\ SEE DETAIL 1.
b [T

WOOD BUCK

c BY OTHERS

DETAIL 14 - HALF PANEL. |

THIS WALL SECTION DEPICTS A VARIETY OF CONSTRUCTION STYLES,
C.B.S. WITH TIE BEAM, C.B.S. WITH LINTEL AND PRECASTS ABOVE OR

BELOW WINDOWS AND DOORS, AND PRECAST WALL STRUCTURES, ECT.

ANCHORING DETAIL.

WHEN ANCHORING INTO WOOD. THE WOOD SHALL BE A
MINIMUM OF 2" X 4" AND EQUAL TO 2§ SOUTHERN PINE

OR CONSTRUCTION GRADE, STAMPED CONSTRUCTION GRADE

AND BE PART OF THE FRAMING STRUCTURE OR SECURELY
ATTACHED TO THE FRAMING STRUCTURE OR SUPPORTING JOISTS.
1/4" ANCHOR SCREW LENGTH REQUIRED FOR 1 1/2" EMBEDMENT

& PENDINGS

Diversified

Window Sofutions, Inc.

215 PINEDA STREET
UNIT 141
LONG6WOOD, FL 32750

PH: 407-889-9440 FX:407-889-9193

Diversified Window Solutions Inc. 2010 - LICENSOR OF WINDOW SYSTEMS AND HURRICANE SHUTTERS. "PATENTED, U.S. PATENT NO. §,540,018"

® 1
R
- ion o
wd  w = 3
G o VWV~ o
z - = N e
<e 9 Sw” g
3 £ <> 3
g Z o<
sz o8| agyt
ga £ OZ<
e 4 |> 2<ep
w < | F2&3
X bl &5F 5
[} Y] LU<Z <
2 o Vu g g
) A ‘2 5
- a CE I
l_—' a o a
W
,__
3
|
2 |
o
M| Z
0| g
oy
=
>| «
O
(W]
(1Y)
(a'4 2
.,_"i .
2 D in N“A 8
H2 D TR )
p D L 8
= B &
P L s
Qorkepas
w\_}iE&“;%E
oy "%g&ﬂﬂ.g
o\ RBigyE
\ 03338
.n»:'” ) T
T
= B33y
< R uf
g
g
>
o 2 L_\UU)
w W (""
I X 82
(S




	CCF11052010_00001_Part2
	CCF11052010_00001_Part3

